
White Dot 

Two lines cross so 

32 −= xy   

4)1( =+yx

4)132( =+−xx

4)22( =−xx  

422 2 =− xx  

022 =−− xx  

0)1)(2( =+− xx  

12 −== xorx  

 White dot at (2, 1) 

Black Dot 

06 22 =+− yxx    and   32 −= xy  
0)32(6 22 =−+− xxx  
091246 22 =+−+− xxxx
09185 2 =+− xx  

Using the calculator solver mode 

36.0 == xorx  

so for the black dot  6.0=x  and 8.1−=y  

Grey Line 

parallel to  32 −= xy  

62 += xy  

4)72( =+xx  

0472 2 =−+ xx  

5.0=x  calculator 

solver 

1=y  

  (0.5, 1)  
Tangent 

Try  2=c  

so  22 += xy

0)22)(22(62 =+++− xxxx

044446 22 =++++− xxxxx  

0425 2 =++ xx  

Using the calculator solver mode – no 

answers 

Try  1=c  

so  12 += xy  

0)12)(12(62 =+++− xxxx  

012246 22 =++++− xxxxx

0125 2 =+− xx  

Using the calculator solver mode – no 

answers 

Try  0=c  

so  xy 2=

046 22 =+− xxx  

065 2 =− xx  

Using the calculator solver mode 

2.10 orx =  

c  must be between  0  and  1.2 

so   6.0=c  

so tangent is   6.02 += xy  
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